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	Download valid 200-120 exam dumps from passleader.com for 100% passing the 200-120 exam now! PassLeader published the the

newest complete version of 200-120 dumps collection, including 200-120 PDF dumps and 200-120 VCE dumps, all new 200-120

exam questions are available in PassLeader now, it will help you 100% passing the Cisco CCNA 200-120 exam!  ATTENTION

PLEASE!!! The 200-120 exam will be retired on 20/Aug/2016, then, the 200-120 exam will be totally replaced by the new 200-125

exam! The newest 200-125 exam dumps collection: http://www.vce4shared.com/?s=200-125 Free 200-125 PDF dumps from Google

Drive: https://drive.google.com/open?id=0B-ob6L_QjGLpeHlmcExhU2FVY00 keywords: 200-120 exam,454q 200-120 exam

dumps,454q 200-120 exam questions,200-120 pdf dumps,200-120 practice test,200-120 vce dumps,200-120 study guide,200-120

braindumps,Cisco Certified Network Associate Exam P.S. Download Free 200-120 PDF Dumps From Google Drive: 

https://drive.google.com/open?id=0B-ob6L_QjGLpbWZLMFRpS29SaW8 QUESTION 21Which two protocols are used by bridges

and/or switches to prevent loops in a layer 2 network? (Choose two.) A.    802.1dB.    VTPC.    802.1qD.    STPE.    SAP  Answer:

AD QUESTION 22Which switch would STP choose to become the root bridge in the selection process? A.    32768:

11-22-33-44-55-66B.    32768: 22-33-44-55-66-77C.    32769: 11-22-33-44-55-65D.    32769: 22-33-44-55-66-78 Answer: A

QUESTION 23A switch is configured with all ports assigned to vlan 2 with full duplex FastEthernet to segment existing

departmental traffic. What is the effect of adding switch ports to a new VLAN on the switch? A.    More collision domains will be

created.B.    IP address utilization will be more efficient.C.    More bandwidth will be required than was needed previously.D.    An

additional broadcast domain will be created. Answer: D QUESTION 24What are three benefits of implementing VLANs? (Choose

three.) A.    A higher level of network security can be reached by separating sensitive data traffic from other network traffic.B.    A

more efficient use of bandwidth can be achieved allowing many physical groups to use the same network infrastructure.C.    A more

efficient use of bandwidth can be achieved allowing many logical networks to use the same network infrastructure.D.    Broadcast

storms can be mitigated by increasing the number of broadcast domains, thus reducing their size.E.    Broadcast storms can be

mitigated by decreasing the number of broadcast domains, thus increasing their size.F.    VLANs make it easier for IT staff to

configure new logical groups, because the VLANs all belong to the same broadcast domain.G.    Port-based VLANs increase

switch-port use efficiency, thanks to 802.1Q trunks. Answer: ACD QUESTION 25Which IEEE standard protocol is initiated as a

result of successful DTP completion in a switch over Fast Ethernet? A.    802.3adB.    802.1wC.    802.1DD.    802.1Q Answer: D

QUESTION 26Which of the following are benefits of VLANs? (Choose three.) A.    They increase the size of collision domains.B.   

They allow logical grouping of users by function.C.    They can enhance network security.D.    They increase the size of broadcast

domains while decreasing the number of collision domains.E.    They increase the number of broadcast domains while decreasing

the size of the broadcast domains.F.    They simplify switch administration. Answer: BCE QUESTION 27Refer to the exhibit. A

technician has installed SwitchB and needs to configure it for remote access from the management workstation connected to

SwitchA . Which set of commands is required to accomplish this task? 

  A.    SwitchB(config)# interface FastEthernet 0/1SwitchB(config-if)# ip address 192.168.8.252 255.255.255.0 SwitchB(config-if)#

no shutdownB.    SwitchB(config)# interface vlan 1SwitchB(config-if)# ip address 192.168.8.252 255.255.255.0 

SwitchB(config-if)# ip default-gateway 192.168.8.254 255.255.255.0 SwitchB(config-if)# no shutdownC.    SwitchB(config)# ip

default-gateway 192.168.8.254SwitchB(config)# interface vlan 1SwitchB(config-if)# ip address 192.168.8.252 255.255.255.0 

SwitchB(config-if)# no shutdownD.    SwitchB(config)# ip default-network 192.168.8.254SwitchB(config)# interface vlan 1

SwitchB(config-if)# ip address 192.168.8.252 255.255.255.0 SwitchB(config-if)# no shutdownE.    SwitchB(config)# ip route

192.168.8.254 255.255.255.0SwitchB(config)# interface FastEthernet 0/1SwitchB(config-if)# ip address 192.168.8.252

255.255.255.0 SwitchB(config-if)# no shutdown Answer: C QUESTION 28In an Ethernet network, under what two scenarios can
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devices transmit? (Choose two.) A.    when they receive a special tokenB.    when there is a carrierC.    when they detect no other

devices are sendingD.    when the medium is idleE.    when the server grants access Answer: CD QUESTION 29Which two states

are the port states when RSTP has converged? (Choose two.) A.    discardingB.    listeningC.    learningD.    forwardingE.    disabled

Answer: AD QUESTION 30Which two commands can be used to verify a trunk link configuration status on a given Cisco switch

interface? (Choose two.) A.    show interface trunkB.    show interface interfaceC.    show ip interface briefD.    show interface vlan

E.    show interface switchport Answer: AE QUESTION 31Which of the following statements describe the network shown in the

graphic? (Choose two.) 

  A.    There are two broadcast domains in the network.B.    There are four broadcast domains in the network.C.    There are six

broadcast domains in the network.D.    There are four collision domains in the network.E.    There are five collision domains in the

network.F.    There are seven collision domains in the network. Answer: AF QUESTION 32Which command enables RSTP on a

switch? A.    spanning-tree uplinkfastB.    spanning-tree mode rapid-pvstC.    spanning-tree backbonefastD.    spanning-tree mode

mst Answer: B QUESTION 33Refer to the exhibit. All switch ports are assigned to the correct VLANs, but none of the hosts

connected to SwitchA can communicate with hosts in the same VLAN connected to SwitchB. Based on the output shown, what is

the most likely problem? 

  A.    The access link needs to be configured in multiple VLANs.B.    The link between the switches is configured in the wrong

VLAN.C.    The link between the switches needs to be configured as a trunk.D.    VTP is not configured to carry VLAN information

between the switches.E.    Switch IP addresses must be configured in order for traffic to be forwarded between the switches.

Answer: C QUESTION 34What is the function of the command switchport trunk native vlan 999 on a Cisco Catalyst switch? A.    It

creates a VLAN 999 interface.B.    It designates VLAN 999 for untagged traffic.C.    It blocks VLAN 999 traffic from passing on the

trunk.D.    It designates VLAN 999 as the default for all unknown tagged traffic. Answer: B QUESTION 35Refer to the exhibit.

Given the output shown from this Cisco Catalyst 2950, what is the reason that interface FastEthernet 0/10 is not the root port for

VLAN 2? 
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  A.    This switch has more than one interface connected to the root network segment in VLAN 2.B.    This switch is running RSTP

while the elected designated switch is running 802.1d Spanning Tree.C.    This switch interface has a higher path cost to the root

bridge than another in the topology.D.    This switch has a lower bridge ID for VLAN 2 than the elected designated switch. Answer:

C QUESTION 36Why will a switch never learn a broadcast address? A.    Broadcasts only use network layer addressing.B.    A

broadcast frame is never forwarded by a switch.C.    A broadcast address will never be the source address of a frame.D.    Broadcast

addresses use an incorrect format for the switching table.E.    Broadcast frames are never sent to switches. Answer: C QUESTION

37Refer to the exhibit. Why has this switch not been elected the root bridge for VLAN1? 

  A.    It has more than one interface that is connected to the root network segment.B.    It is running RSTP while the elected root

bridge is running 802.1d spanning tree.C.    It has a higher MAC address than the elected root bridge.D.    It has a higher bridge ID

than the elected root bridge. Answer: D QUESTION 38Which two link protocols are used to carry multiple VLANs over a single

link? (Choose two.) A.    VTPB.    802.1qC.    IGPD.    ISLE.    802.3u Answer: BD QUESTION 39Assuming the default switch

configuration, which VLAN range can be added, modified, and removed on a Cisco switch? A.    1 through 1001B.    2 through 1001

C.    1 through 1002D.    2 through 1005 Answer: B QUESTION 40Which statement about VLAN operation on Cisco Catalyst

switches is true? A.    When a packet is received from an 802.1Q trunk, the VLAN ID can be determined from the source MAC

address and the MAC address table.B.    Unknown unicast frames are retransmitted only to the ports that belong to the same VLAN.

C.    Broadcast and multicast frames are retransmitted to ports that are configured on different VLAN.D.    Ports between switches

should be configured in access mode so that VLANs can span across the ports. Answer: B    Download the newest PassLeader

200-120 dumps from passleader.com now! 100% Pass Guarantee! 200-120 PDF dumps & 200-120 VCE dumps: 

http://www.passleader.com/200-120.html (454 Q&As) (New Questions Are 100% Available and Wrong Answers Have Been

Corrected!) P.S. Free 200-120 PDF dumps download from Google Drive: 

https://drive.google.com/open?id=0B-ob6L_QjGLpbWZLMFRpS29SaW8 (Explanation For Every Question Is Available!)
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